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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

7.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.
1) inevitable 2) intangible 3) unforeseeable 4) unsentimental
I don’t really think I’d have the ---------- to finish a marathon!
1) concern 2) candor 3) endurance 4) autonomy
Her marriage started to improve once her husband finally ---------- he had an anger
problem and bhegan to take counseling.
1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.
1) proceeds 2) requires 3) fascinates 4) conveys
Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.
1) refuge 2) remedy 3) paradox 4) vacillation
I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.
1) genuine 2) definitive 3) secretive 4) artificial
The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.
1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.
1) stabilized 2) hampered 3) diversified 4) veritied
Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.
1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we
currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) --—---—--—- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
0 the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language 1s a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) ---------- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4) In
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) 1s the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The main control surfaces of a fixed-wing aircraft are attached to the airframe on
hinges or tracks so they may move and thus deflect the air stream passing over them.
This redirection of the air stream generates an unbalanced force to rotate the plane
about the associated axis.

Ailerons are mounted on the trailing edge of each wing near the wingtips and move
in opposite directions. When the pilot moves the stick left, the left aileron goes up and
the right aileron goes down. A raised aileron reduces lift on that wing and a lowered
one increases lift, so moving the stick left causes the left wing to drop and the right
wing to rise. This causes the aircraft to roll to the left and begin to turn to the left.
Centering the stick returns the ailerons to neutral maintaining the bank angle. The
aircraft will continue to turn until opposite aileron motion returns the bank angle to
zero to fly straight.

An elevator 1s mounted on the trailing edge of the horizontal stabilizer on each side
of the fin in the tail. They move up and down together. When the pilot pulls the stick
backward, the elevators go up. Pushing the stick forward causes the elevators to go
down. Raised elevators push down on the tail and cause the nose to pitch up. This
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17-

18-

20-

makes the wings tly at a higher angle of attack, which generates more lift and more
drag. Centering the stick returns the elevators to neutral position and stops the change
of pitch.

The rudder is typically mounted on the trailing edge of the fin, part of the
empennage. When the pilot pushes the left pedal, the rudder deflects left. Pushing the
right pedal causes the rudder to deflect right. Deflecting the rudder right pushes the tail
lett and causes the nose to yaw to the right. Centering the rudder pedals returns the
rudder to neutral position and stops the yaw.

The plane can rotate about the associated axis when ---------- :

1) the air stream is deflected

2) the unbalanced force is redirected

3) the hinges or tracks move

4) the airframes is attached to the main control surfaces

All of the following are the consequences of moving the stick right EXCEPT ---------- =
1) the left aileron goes up

2) the aircraft turns adversely

3) the left aileron reduces lift on the left wing

4) the right wing drops and the left wing rises

A pitch motion is ---------- ’

1) perpendicular to the aircraft line and lies in the wings

2) the change in the location of horizontal stabilizer

3) the side to side movement of the nose of the airplane

4) being caused by the deflection of the elevator of an aircraft
Rudder, as it’s referred in the passage, ----------

1) causes the pilot to turn the pedal in various d1rect10nc.

2) is a main component neutralizing the air

3) is a moving section located at the rear of the airplane

4) controls the movement of the aircraft about its horizontal axis

The word “they” in paragraph 3 refers to ---------- A
1) elevators 2) stabilizers 3) sticks 4) fins
PASSAGE 2:

A helicopter pilot manipulates the helicopter flight controls to achieve and maintain
controlled aerodynamic flight. Changes to the aircraft flight control system transmit
mechanically to the rotor, producing aecrodynamic effects on the rotor blades that make
the helicopter move in a deliberate way. To tilt forward and back or sideways requires
that the controls alter the angle of attack of the main rotor blades cyclically during
rotation, creating differing amounts of lift at different points in the cycle. To increase
or decrease overall lift requires that the controls alter the angle of attack for all blades
collectively by equal amounts at the same time, resulting in ascent, descent,
acceleration and deceleration.

A typical helicopter has three flight control inputs—the cyclic stick, the collective
lever, and the anti-torque pedals. Depending on the complexity of the helicopter, the
cyclic and collective may be linked together by a mixing unit, a mechanical or
hydraulic device that combines the inputs from both and then sends along the "mixed"
input to the control surfaces to achieve the desired result. The manual throttle may also
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24-

be considered a flight control because it is needed to maintain rotor speed on smaller
helicopters without governors. The governors also help the pilot control the collective
pitch on the helicopter's main rotors, to keep a stable, more accurate flight.

The word “manipulates™ in the first line is closest in meaning to ---------- ;
1) connects 2) manages 3) prepares 4) recognizes
The aerodynamic effects on the rotor blades ---------- »

1) can transmit mechanically to the rotor

2) produces enough amounts of lift to control the flight

3) causes the helicopter to move in the desired way

4) creates changes in the aircraft flight control

The equal change in the angle attack for all of the blades simultaneously leads to all of
the following EXCEPT ---------- ;

1) moving up 2) pitching change
3) moving down 4) velocity alteration
The manual throttle ---------- ;

1) makes the rotor speed be constant

2) can control the power of the engine

3) maintains the collective pitch on smaller helicopters

4) is replaced by a governor in a typical helicopters

A mechanical or hydraulic device, according to the passage, ---------- .

1) 1s a flight control input in more complex helicopters

2) transmits force mechanically or hydraulically to the rotor

3) is a mixing unit facilitating the link among all control inputs

4) can combine the inputs of a cyclic stick to those of a collective lever

PASSAGE 3:

Composite materials are materials made from two or more constituent materials with
significantly different physical or chemical properties, that when combined produce a
material with characteristics different from the individual components. In particular,
the aircraft manufacturing industry uses the so-called fibre-reinforced composite
materials, which consist of strong fibers such as glass or carbon set in a matrix of
plastic or epoxy resin, which is mechanically and chemically protective.

A sheet of fibre-reinforced material is anisotropic, i.e., its properties depend on the
direction of the fibers working at traction-compression. Therefore, in structural form
two or more sheets are sandwiched together to form a lay-up so that the fibre
directions match those of the major loads. This lay-up is embedded into a matrix of
plastic or epoxy resin that fits things together and provides structural integrity to
support both bending and shear stresses.

In the early stages of the development of fibre-reinforced composite materials,
glass fibers were used in a matrix of epoxy resin. This glass-reinforced plastic (GRP)
was used for helicopter blades but with limited use in components of fixed wing
aircraft due to its low stiffness. In the 1 960s, new fibre-reinforcements were
introduced, Kevlar, for example, 1s an aramid material with the same strength as glass
but is stiffer. Kevlar composites are tough but poor in compression and difficult to
manufacture, so they were used in secondary structures. Another composite, using
boron fibre, was the first to possess sufficient strength and stiffness for primary
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27-

28-

29-

30-

structures. These composites have now been replaced by carbo-nfibre-reinforced
plastics (CFRP), which have similar properties to boron composites but are very much
inexpensive.

This passage is mainly about ---------- i

1) fiber-reinforced composite materials ~ 2) the history of composite materials

3) development in composite materials 4) the properties of composite materials
The matrix of plastic or epoxy resin ---------- ;

1) makes the fibers such as glass or carbon strong

2) enhances the durability of composites

3) alters the mechanical and chemical properties of composites

4) plays a key role in fabrication of strong materials

Anisotropic materials, based on the information given in the passage, are hose ---------- .
1) that have properties identical in all directions

2) with structural integrity to support both bending and shear stresses
3) whose properties are directionally dependent

4) that show the same stress if a specific load is applied at any point
Kelvar composites ---------- ;

1) are natural fibers being stiffer than glass

2) are used less in manufacturing materials

3) are synthetic materials used in secondary structures

4) have similar properties to boron composites but poor in tension
Which one is NOT a property of CFRP?

1) used instead of borone fiber

2) are the most widely-used plastics

3) possessing sufficient strength with low rigidity

4) are used in the underlying structure
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